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SECTION -1
©uE -1

CHILD DEVELOPMENT AND PEDAGOGY
e Tammra T framemer
There are 30 questions in all in this section.
All questions are compulsory.

A HE FF 30T T |
aut g7 o ¥

1.  Which of the following is more important for keeping the good mental health of
students ?

(4) Provision for curricular activities

{B)] Freedom of expression

(C) Variety of interests

(D) Teacher's role and school environment.

etz & o= Imfes e &1 a7 WA & e fe 8§ § S9-9 a1 sifus meayel § 2
@A) wedfus st &1 yaum

B) feafs =t =

(C) wfedl =t fiman
(D) STEATE =t feT G5 faemert e |
2. 'Child belonging to weaker section’ means

(A) A child belonging to such parents whose annual income is low

(B} A child belonging to such parents who come under the disadvantaged group

(C) A child belonging to such parents who come under the category of below poverty
line

(D) A child belonging to such parents whose annual income is lower than the
minimum limit specified by the appropriate government.

‘SRS T F TEE’ @ T §

A) TR AfEehl ¥ TerE | TS IivF s we ®

(B) U@ fyumges & Ti9F @ o dfgd s & o €

(€C) TR rfuuraehl & erer @ |1 el Y @ e g g o €

(D) T® Afuraehl & etk € = TR g0 Fifa Fan dm «t affs oma +1 dm @ 99 F
gt § o €
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4 [@]
The Right to Education Act, 2009 specifies that if the number of children admitted for
first class to fifth class is above two hundred then the pupil-teacher ratioc required is

(A)  thirty (B) forty
(C} forty-five (D) fifty.

foren =1 efusnr AAfufm, 2009 d ffde fer w0 ¥ 5 *wen- 1 9 Fa-5 o afe vow &2 7
faenfet #t dem €1 W 9 atfus }, @ foaneff-sremmes stavas s €m

(W) = B) =

€ Faefa D) TEE |

Which of the following statements is incorrect about action research ?

(A) Itis conducted by teachers and educational professionals

(B) It is conducted to solve a specific problem

(C) Tt is conducted to provide information for decision making at a broader level
(D) It s conducted to focus on the solutions of day to day problems at lacal level.
frarcre sgEaH & vy A e § @ ®F-w 9 98 TE v 7

(A) T® st wd foen syawr @ g Al & gra fear s R

B) =z Tt fafoe wwen & wawE & fau fear s @

(C) = & R Fvla o & Tau gu e #1 & 9 fea o @

(D) T &R R Ao F gueEe & g & ol frars e fha wma §
Which of the following statements is not true about teaching ?

{A) Teaching is modifiable (B) Teaching is formal and informal

(C) Teachingis ascienceas wellasart (D)  Teaching is instruction.

= @ S-W e fome & I § g 16 ¥ 2

() T 4 guR faean s g B) fawr sy & o= §
(C) - Foero foaqm & wy-w Fom o ® (D) oo sgawA ¥

The temporary change in behaviour due to continuous exposure to stimuli is called
(A)  Habituation (B) Learning

(C) Temporary learning (D)  Motivation.

fordt 39 & fm 53 91 9 7aeR © B 9ren oTeurlt uiads Seoend ¥

(A)  AvFE B g™

() oTeurdt sfymm (D) AfyERom |
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The teachers should not use which of the following ways to change the attitudes of
students ?
(A}  Coercive persuasion
(B) Repetition of idea or assertion
(C) Endorsement by an admired person
(D)  Association of the message with a good feeling.
foranfyi=t =t sifgfudl A sfeds & foau = o @ fog fafy & w&@m st 1 721 Fen =nfew 2
(&) <T@ d &g o @ faur & fag ust s
(B) fodt faar = U Ay qEargES FTER
) e wiwa =fe & g0 99 @ @idfa
(D) ¥R¥ & Y Ag=d wnfym F |
Which of the following statements regarding achievement motive is true ?
(A)  Achievement motive is necessary for survival
(B) If the satisfaction of personal potentialities is emphasized, the achievement
motive may be classified as a growth motive
(C) If the stress is on competition among people, the achievement motive can be
considered a soclial motive
(D} All of these.
IuTifey FfRE & Ty & 79 § ¥ F-wr s 98 € 2
(A) Syefy FfiRs wifaw w1 & 6y mevas &
B) 3R AfETT sHarsl Ft TE Aewq T A Suwfr it A faFm WE Fe1 1 I 7
[ afe =afwal F Ay yfaaif W 59 8, @ Suafs gfnes &1 amfas sfais & e

ka1 &
(D) TTH Q@Y |
During 6 to 10 years children start taking interest in
(A) Religion (B) Human body
(C) Sex (D) School.
68 10 9% &I TN N A TG S A Fd §
@ wd§d (B) HAE IR H
() O gl | D) Tamremd

Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?

(A)  Trait theory (B) Type theory

(C) Psychoanalytical theory (Dj Behaviourist theory.

HH fagra =% e ¢ % wha nfass & o6 3t 98t g0 & wd € S i stfyerma: fod
@l & UH IHE e & I T E ?

@& T fag B) vHR fagm

) wfazeromerE fagra D) FHeERER fagH |

LRI [ P.T.O.



L-1
11.

12.

13.

14.

15.

6
‘Toy age’ refers to
(A)  Early childhood (B) Late childhood
(C) Babyhood (D) all of these,
'faeiHl #t o1y’ w7 A E
(&) T SreaEen St (B) IW SrcEET A
() Sreramaeyr HI (D) s |
Which of the following is not a characteristic of early childhood ?
(A)  Pre-gang age (B) Imitative age
(C) Questioning age (D) Play age.
=1 4 | S-H gd Areameeen & favva 98 § 2
(A) T/ GEE H wA HI Ee (B)  3TTHTU HTA H e
([C) 99 FW &I FATEA (D) oW &1 =S |

In late childhooed period children understand the conversion of which physical

entity(ies) ?

(a) . Mass (B) Mass and number

(C) Number (D) Mass, number and area.
I eEy H dein sifas awgeil % e srEvas a3 wReds aEem o € 2
@A) T=HEHA B) FoF9H 3R gE

© U= (D)  w=HH, G iR &7 |

The meaning of development is

(A) progressive series of changes

(B) progressive series of changes as a result of motivation

(C}) progressive series of changes as a result of motivation and experience
(D) series of changes as a result of maturation and experience.
faera o1 aef

&) IREd 1 I HEen

(B} RO & Fera®y BM 9t YRl i S @

(C) ATHTon UH YT % werRaEd T ATl UfiErl #i I gEe

(D) ofusEa T ITWE % FETEEEY T Arel gRadH o @ |

Which of the following statements is not correct about development ?
A Each phase of the development has hazards

(B)  Development is not alded by stimulation

(C) - Development is affected by cultural changes

(D) Each phase of the development has characteristic behaviour.
femsaed i i A s-a s o T § 2

(A) Ta@™ F! TEF ATRT F 3T Tl ¢

B) o IFaR / FeET A W AT oA

() fawr Oiepfaes wfedHl @ gafes € @

(D) faom ot YT sveeen &1 79+t favreand gt € |
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16. The National Curriculum Framework, 2005 under the heading 'quality dimension' gives

more importance to

(A Physical resources

(B) Qualified and Motivated teachers

(C} Experiences designed for the child in terms of knowledge

(D) Experiences designed for the child and curriculum reform.

T SAEal wUE@, 2005 § uET SEW We % st ifue e fea A
()  wifoe Al =3

B) fofya wd aAhifia seamest 1

(C) vl & fau 3@ & ded § wifaa smval 1

(D) a o & fou @faa save Td TeTshd gUR |

17. The National Curriculum Framework, 2005 suggests which of the following

examination reforms ?

(A}  Class X examination optional

(B) State level exams to be conducted at different stages of school education

{C) Competitive entrance examinations optional
(D) Al of these.
T reT=AEt waE, 2005 H e § R wien g gurt s g TR 2
() Fen-X & whan A
(B) Toener foan =1 fafim srawenell W U9 &R &1 9{ian oo |
() wfadrit waw wianst +1 thaw
D) T | a4t |
18. Reducing stress and enhancing success in examination necessitates
(&) A shift towards shorter examination
(B) Examinations to be conducted at different stages of school education
(€} Annual and half yearly exams
(D) = Setting up of different agencies for conducting entrance exams.
@@ H FH H To TS F TR § g mevaw ?
() FH FEY F ThESH § R
(B) foemerh faan = fafis @l § qfenet &1 smaeA
(C) =it & sTgafis T
(D) fafim vaw qhensii & fou fafim wofwal =t s )
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19.

20.

21.

22,

23.

The purpose of evaluation is

(A)  to label children as slow learner and gifted children

(B) to identify children who need remediation

(C) to diagnose learning difficulties and problem areas

(D} to provide feedback on the extent to which we have been successful in imparting
education for a productive life.

eI &1 3899 ¥

A) =il o i afg @ e are @ gfasmenedt See % w9 H e Sl

B) o Sl F STERAE Wen &) STavEEa €, SO TEEH

(€) s = FisTR 9 A A & H q@ T

(D) JeEF oA A % fog foen fFa dim o §r = o€ &, o1 givdew yem 0 )
For primary school children, which of the following is better ?

(4) Video simulation (B) Demonstrations
(C) Hands-on-experiences (D) All of these,
wWifae foemerst & sl & fay Fr7 o fd s ama € 2

@) oS sgEan (B)  wesH

© =4 % g foran e A (D) 3 TH AW |

Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?

(A)  Projection (B) Displacement

(C) Reaction formation (D) Sublimation.

F9 T FEAT & TF ST e Dl TR AW § A 3 ger & fow 9 9t 8 1 5@ 7w wea
Y o701 TR T Hd, 399 Haer ¥ 9 ¥ 9 %17 vfown = viaetya g g 2

(&) wETY B foram

(© wiakwan faio (D) SR |

Adjustment means accommodating oneself to various circumstances in order to satisfy
(A) others (B) motives

(C) goals (D) needs.

a9l = % fafus afitfeafaal o s w5 ¥ arfs age fea o %

(&) TE &l B) W& H

(€) SeEi R D) STEvFEas #1 |

Which of the following behaviours is not a manifestation of emotional disturbance ?
(A}  Delinquency (B) Bullying nature

{C) Truancy (D) Autism.

=1 A A - TR e 191 &) el T a2

A) IS Ty B) FHSIU FT T awel

(C) wEA (D) wEEEar |
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24. A provision for education for the children with disabilities can be done through

{A) Inclusive education (B) Mainstreaming
(C} Integration (D) None of these.
Frarm st #1 foa & fow weye fHa s aa ¥

(A) wEEE e g (B) T YN H el
(C) THEE §H (D) ¥ VR T

25. Which of the following is not a characteristic of mental retardation ?
(A) 1.Q. between 25 to 70
(B] Learning in a slow pace and unable to do the activities of daily routine
(C} Poor adaptation with the environment
(D)  Poor interpersonal relations.
fr o @ Fl-t aafas w<a & fasem & R 2
(A  dfg @fsy o1 25 ) 70 F 7§
(B) i nfa | dram wa & e &t fFmnadl &1 7 S
[C) TRERY % WY TTH o Hiow
(D) adafss =yl & HESER B4 )
26. Which of the following development tasks is not appropriate to the late childhood ?
(A) Learning physical skills necéssary for ordinary games
(B) Achieving a masculine or feminine social role
[C)  Achieving personal independence
(D) Learning to get along with age-mates.
=1 ¥ @ F-w fawmawas oY W Sedae F I9gH T8l 8 ?
(A) T G ¥ o syevas TRiftd FEemd wha
(B) geuifas o1 foxaifaa grfas yfasmedl &t | e
() Fafde FerfsEr T &
(D) o793 THS HCAh! F Y @A HEAl |
27. Training in advance of normal maturation is generaily
(A)  highly beneficial with respect to performance of the common skills
(Bl _harmful from an overall point of view
(C) beneficial from a long range point of view
(D). beneficial or harmful depending on the method used in training.
T AT ® YEd giie i I
(A) EEF HEE & e & He 7 aga v el §
® %o foen = efFenes o @
© e g enwwR B ¥
(D) TWERI B A TR, 9€ 7 | TR Far ¥ % wivsm o fem yon =1 fafy &1 wam
M ¥ |
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28.

29.

30.

10 [D]
Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderciap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in

response to bolt. Jumping of Raju is an example of learning theory of
(A) Classical conditioning (B) Operant conditioning
(C) Trial and Error (D) None of these.

e ad F TS S fagdt F A TEA F @@ ¥ | faeell awEdt ¥ ot Fewy w e
A T 1 TS VIR g7 R ITAT § | SR-9R I% "l gt ¢ | e g R wfa & uwEn fasen
Feehdl § | T Tasiedl i 71 Gt IBerl © | TS 1 Ioel e F 68 fagrs &1 e
72

(A) e e (B) feramygd sTgsA

(C) 9o & | (D) FH § * E

Which of the following is an example of positive punishment ?

(A) Redicule by friends (B) Loss of time with friends
(C) Cease nagging (D) All of these.

FHENEF 3vs H 9 F & -7 Serm ¥ ?

(a) il % g SuEE B o & Wy T TWER F
(© g frE =58 Fe (D) TH | wt

Which of the following statements is not appropriate to motivation as a process ?
(A) It causes a person to move towards a goal

(B) It satisfies the person's biological needs

(C) It helps in achieving a psychological ambition

(D) It keeps away from an unpleasant situation.

fra d @S- wem o ww wiEw F ARl H Irgs Wi 7

(A) =T =fE A AT F SR A R

(B) 9% =f® + TR avaharel H €¥ H@ ¢

() Tg TSI STHE FT WE FE F T FE ©

(D) % =fs & i fefd A @a g |

LTI
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(] e

(C} TRom

32, ‘wfa’ F St €9 g

@)  wfast
(C)  Hafgat

11
e - 11

HTHT - I

fet

WESHFA 30U T |
Wt v e §

(B)

(D)

(B)

(D)

Gl

&g
iaqgat |

33. U%pa ¥ 3 W W fe<t § fam fonefl ofteds & wgw €19 &, weom #

(&) H&Fa
{C) W™

(B)

(D)

34. 94 fed Tarm & < veg 9YA € O ST FEd &

A) &€ I

(C) 9YH TAE
35. TG V=¥

(A) SvaEe

() ~Ivad

36. TG 999§
(A €
() ==

(B)

(D)

(B)

(D)

(B)

(D)

TEd
T |

g T
I AN |

I |

SRk
O |
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37. 'R ® (@3 9’ & F81 I e

(&) W (B) AR
(C© TEY D)
38. wfiaras war & §
(a) ¥ (B) e
C) =gt (D) T&=F |
39. = ¥ 9 5y o ¥ WygE FR%E & ?
(A) TWHREITATFIE (B) W B Q@ T8
[C) s A e # FrE Ky (D) TR EEm? |
40. ‘9 w@a: g 9 wem' F 'ug’ weam ¥
(A)  TETArEE T B) (ToEr=s w&ETm
(C) =TS HATH (D} AFTR=rEaEE TETH |

41. wgl form Tugl amen a=a &
@A) WU oA ¥, FR 8 ? B) FIUAAT NS  FHEE ?

(C) < 9F A A ¥, FEl ¥ (D) S 9F, S o}, FE B
42, ' F A 3@ F ... G€ A T qEE |/ T g ?

(@) # Amd SHEE W UgE T B H 3 Feem B ws

(© H emamm T w 38 feman (D) B v gE
43. HE HE™U ®

(a) A5 A fugt T B el d Y HE

(C) oGl A el FHieh (D) 3@l & wewr e |
44, 'T¥ T M 3@ gETR w1 Fweas oY ¥

() THS A A M B) ¥gd a1 &M

(C) w1l 1 ATEAH FEA (D) &y e
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45. ‘Tt e s’ =1 stfiumg €
A geh{ 3T AT

() WL E S
46. ‘foueca’ o= & ¥

(A) Ty
) fowi d@fy
47. ‘"' v # wiy-fosde gm
A T+
€ @+
48. e & o B ¥
@w
€ =
49. 'R & SgIEA Em
(a] IR
C) R
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(B)

(D)

(B)

(D)

(B)

(D}

(B)

(D)

(B)

(D)

HEFRT § A
D HSH TG T |

e |fy
TH ®

4 + 3

T+ q |

S Einec il

HRY
IgaaT T B

50. T oGl # Y@M & T{ER FR 9fiadq 7t g & 3% % s ¥

A) 79
© =HfFTFRl =
51. 'SR’ = fgeim weg
(A) #RH
€ =
52. T T @ fog gqe & ot =g oo § 2
{A) ¥, gEE, 9, 3
(C) g, foFam, T, =g

(B)

(D)

(B)

(D)

(B)

(D)

faart o=t

EECOM

aqad |

e, ==, e, %4
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53, fra s d's suad TE & 2

@A ey B) PO
€ Fd (D) HAA |
54, ‘T v wm A fFa u A gan ¥ ?
A g _ Bl FfeT
© fa& (D) =
55. oy weel vg demEr=s € SR 9 fedt wye fadiv @ &ty w0g 39 wed €
(A)  HUYRF TE (B) &E 9
(C)  oT=ivE wAE (D) fgpEEE |

56. Wg® a1 &1 3T T I } 2

(A) T o T B)  Hfamug @R

(C) A wfafga wgv aman &4 (D) S wER |
57. 'O @ ‘WyRw’ a9 R wwa € 2

@ S sEa

(B) Toroep o1¢ TXom @ ¥He ® 311 9w

© Toui ww =l 3R o fwand <

(D) o ©F ey, v fava ok v @ frn e |
58. ‘Higd WER W1 W@ ?' 39 9 39T

(A B) SRR

(€ ¥AT (D) SN
59. T3 @ fafsm o &

(A} aw g R B) H vgm § R a8 Qo &

(© gIR gl & (D) FHIgnEFmomar g d |
60. fod & ®U7 F1 3§d FW gug Ty faimr fag =1 wam fear T & 2

@ faormees fog (B)  r@atw Aq1 35V g

€ IEES f9E (D) fadw fo |
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SECTION - 11
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Pick out the verb from the following :
(A) Create (Bj Creation
(C) Creator (D) Creativity.

Select the correct verb form :

Sachin has ..................... many records.
(A) brokened (B) broken
(C} broke (D) breakened.

Fill in the correct form of the verb :

The train had left before 1 ...........covvvvies the station.
A) reached (B) had reached
[C) was reach (D) was reached.

Complete the following sentence :

fwe . .ooooeiiieiins a lottery, we will buy a car.
{A) will win {B) have won
() won (D) win.

Supply an appropriate determiner :

Thave .........occoveiennnnn. glass of milk every morning.
(A} the B a
(C)  any (D) some.

The father said to his daughter, “When will you return ?”
In Reported Speech the above sentence will be :

The father asked his daughter

(A) when she would retum ? (B) when would she return ?

(C) when she will return. D) when she would return.

(LR

L-1
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37. The teacher said to the students, “Be polite in your speech.”
In Reported Speech the above sentence will be :
The teacher asked the students
(A)  to be polite in their speech. (B) that be polite in their speech.
(C) to be polite in your speech. (D) that be polite in your speech.
38. My neighbour said to me, "] am going out for a few days”.
In Reported speech the above sentence will be :
My neighbour told me that
{A)  he was going out for a few days. (B) he is going out for a few days.
(C) he will go out for a few days. (D)  we are going out for a few days.

39. The word ‘magnificent’ is similar in meaning to

{A) very large (B) grand
(C) huge (D) royal,
40. The word ‘bliss’ has a meaning similar to
{A) happiness (B) anger
(C) darkness (D) innocence.

4]1. Point out the word which ends in a sound ( underlined ) different from that in other

words :
{A)  who (B) flew
(C) slow (D) shoe.

42. Identify the word in which the middle sound ( underlined ) is different from that in
other words :

(A)  seen (B)  hit
(C) Theat (D)  brief.
43. Which one of the following words has a different sound ( underlined ) at the
eginning ?
(A)  sure (B) cell
{C] sell (D) psychology.
44, Point out the word which has a different sound ( underlined ) at the end :
(A) laugh (B) graph
(C) high (D)  half.
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In which one of the following words do the letters ‘th’ have a different sound
( underlined ) ?

(A)  this (B)  that

{C) there (D}  thin.

Choose the correct order of words :

(A) Do you live where ? (Bi Do live you where ?
(C) Where do you live ? (D)  Where you live do ?
Which of the following has a correct sentence pattern ?

{A) He gave her a book. (B) He gave a book her.
{C) He her gave a book. (D) He a book gave her.
Complete the following sentence with the correct option :

The sky suddenly became .....................eee .

(A) darkly (B} dark

{C) darkness (D) darken.

Which one of the following words is a noun ?

(A) Write (B) Wrote

(C) Written (D) Writer.

Supply the correct pronoun :

Arun and Lata have a house. ........................ house is quite big.
(A)  Their (B) His
(C} Her (D) Theirs.

Supply an appropriate determiner :

My neighbour is ..., honest person.
A) a {B) an
(C)  the (D)  any.

Which one of the following sentences expresses ‘possibility’ ?
There are dark clouds in the sky. ............cooenn, .
(A) It will rain (B) 1t shall rain

(C) It may rain (D) It must rain.

(UL [ P.T.0.
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53. Pick out the sentence which has the meaning as the following :
No other animal is as brave as the tiger.
A The tiger is a brave animal
(Bl The tiger is as brave as any other animal
(C)  The tiger is the bravest of all animals
(D) No animal, except the tiger, is brave.

54, Complete the following sentence with the correct form of adjective :

Anupam IS ......cceeenienninnns boy in the whole of the class.
(A) the tallest (B) the taller
{C) the most tall (D) the more tall,

55. Pick out the sentence which has the same meaning as the following :
The last question was the most difficult question.
(A) The questions were very difficult.
(B} The last question was more difficult than any other question.
(C) Some questions were very difficult.
(D) Only the last question was very difficult.

56. The opposite of ‘'similar’ is

(A) unsimilar (B) insimilar

(Q) different (D) near,
57. The word ‘approve’ is opposite in meaning to

(A) confirm (B) reject

(C} accept (D) return.

58. Pick out the word which is spelt correctly :
(Al sinceerly (B) sincierly
(C)  sincerly D) sincerely.
59. Which of the following words has correct spelling ?

{a) knowlege (B) knowledge
{C) knowlidge (D)  knowlige.
60. Which one of the following words begins ( underlined ) with a different sound ?
{A)  kite (B) cool
(C) chemistry (D) city.
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SECTION - 11
LANGUAGE 11
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words ends in a different sound [ underlined ) ?

(A city (B) sky

(C} by (D) try.

1dentify the word which has a different sound { underlined ) in the middle :
(A) foot (B) should

() wood (D) food.

In which one of the following words does the letter ‘i’ have a different sound

( underlined ) ?
(&)  finish (B) ' final

(© fit (D) film.

Pick out the word in which the letters ‘ch’ have a different sound ( underlined } :

(A) check (B) chess

(C) chemical (D} chairman.
Which letter of the word ‘comb’ is not spoken ? .
) c B) o

(€] m (D)

The opposite of the word “optimistic’ is

(A)  pessimistic (B) hopeful
(C)  ideal (D) dull.
The word “innocent’ is opposite in meaning to that of

(Aa) clever (B) ignorant
(C) active (D] guilty.
Pick out the word with the correct spelling :

(4)  varaity (B) varietey
(C) varieti (D) variety.
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Which one of the following has the correct spelling ?
(A) impresive (B) imprescive
(C) impressive (D)  impressiv.
Point out the word which begins with a different sound ( underlined ) :
(A} house (B}  home
(C) honour (D) hen.
Mohan said to Savita, “Can 1 borrow your book for a day ?"
In Reported Speech the above sentence will be
Mohan asked Savita
(A}  if he could borrow her book for a day
(Bl  if they could borrow her book for a day
(C)  that could he borrow her book for a day
(D) if that he could borrow her book for a day.
She said to her brother, “Do not buy mangoes.”
In Reported Speech the above sentence will be
She asked her brother
(A)  to not buy mangoes (B) not to buy mangoes
Q) do not buy mangoes D) do not to buy mangoes.
The students said, “We want to learn a foreign language.”
In Reported Speech the above sentence will be
The students said that
(A) they want to learn a foreign language
(B) they wanted to learn a foreign language
(C) we want to learn a foreign language
(D) we wanted to learn a foreign language.

The word ‘courteous’ is similar in meaning to

(&) related to a court (B) impolite

(C) polite (D) kind.
Which word has a meaning similar to ‘significant’ ?

(A) prominent (B) magnificent
(C) efficient (D) important.
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Complete the sentence by putting an appropriate determiner :

You should always carry .............cooveviee umbrella with you.
A a (B) an
(C) any (D) a few.

Manjit sald to Anisha, “Could you please open the window ?"

In the above sentence Manjit is

(A) asking a question {B) giving an instruction
(C) offering advice (D) making a request.
No other member in the family is as intelligent as Raju is.

The above sentence has the same meaning as

(A)  Raju is intelligenter than any other member in the family

(B) Raju is not intelligent

(C)  Raju is more intelligent than any other member in the family

(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adjective :

[t Was oo e, car he had ever driven.
(a) the more comfortable (Bl the most comfortable
[C) the comfortable (D) the comfortablest.

Choose the sentence which has the same meaning as the following sentence :
Mahim got a higher grade than any other student in the class.

(A)  Mahim got the higher grade than any other student in the class

(B} Mahim got a high grade than any other student in the class

(C) Mahim got the highest grade in the class

(D) Mahim got the high most grade in the class.

Pick out the correct sentence :

(A) There are shop near my house. (B) There is shops near my house.

(C} * There are a shop near my house. (D}  There is a shop near my house.

Select the correct form of the verb :

She ...l the right answer.
(&) knows (B) know
(C) is knowing (D) known.

LELITLEL [ P.T.O.
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Fill in the correct form of the verb :

When the phone rang, we ............c..oooeene, television.
(A) watched (B) are watching
(C) were wailch (D)  were watching.

If Radhika had received an invitation, she would have gone to the party.

The above sentence tells us that Radhika

(Al did not receive the invitation (B) had received the invitation

(C) is waiting for the invitation (D)  did not want to go to the party.

Fill in the appropriate determiner :

The ring is made of ..................... gold.
(A) the (B a
(C) x [(no determiner ) (D) any.

Which one of the following words is an adjective ?

A) Use (B) Useful

(C} Using (DY Usefulness.

Complete the following sentence with the correct option :

My grandfather walks very ............cooeiiinns .

(A) quick (B) fastly

(C) fast (D) nice.

Which one of the following has a correct sentence pattern ?

(A)  She put all the books on the table. (B) She all the books on the table put.
(C) She put on the table all the books. (D)  She on the table put all the books.

Choose the correct pronoun to complete the following :

This book iS ..covvvevininnn.o., , and that one is mine.
(A) our book (B) your
(C) yours (D) yours book.

Choose the correct word order :
{A]  Why she did leave so early ? (B} Why did she leave so early ?
{C) Why did so early she leave ? (D)  Why so early did she leave ?
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Q) e Dy 4
89. fufa s @ s #f wdtsr <t waerm e 39 | wfeSl fora =g o 2
@) - T wrg B = g
) = m (D) 999 |
90. fadt wmm < vt iy o
(A} 15 T B) 23 fEmr
€ 10 3= (D) 01 WE |
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CERD 11

Ep: R

Urret

fer ¥3 féw g5 30 yas 981
A9 YAS Agdl 781

foRt =& § J9 mime ags @ faad femay iy &t was st adt 37
(A] =dge (B) a&W
(C) ydan (D) 3w
‘niyt @g BI’ yared wEl fege” wew daet 37
(A)  HT AT (B) wmae Sfoer
(C) <nstEE R (D) -~ ®u3 F9ar
‘d6 998 HIS ®Tl fagar niew da=t 37
(A)  g9-¥ Sfoz (B)  gasht aahii
(C) d& T gyFr (D) TU-IU WA T A
‘Fy € g9 AU 7t der ' - nnrE B fgoaT widw gaet 97
(A) faR T agt vr T EIE (B) 23 <t 39 wimw v JT
(C) Ay v Sa Afgz (D} FAY § v
‘Al & gEE R w3 @ 3 - wre wE fags vew gae 37
(a) fast st AwTg B (B) =3 @ 3Et v fenrg f&9 aer
(C) Y& v foms rafuz Tow (D) HAez §3 faR &5 9i® & FIar

fag3 wae va &9 ¥ muel, Tt vt T § wun &9 As, 88 § &t faor AT 7

(A)  Adfo (B) uw

() feimz (D) ferfi=

fro3 fefenradt fHans adt aond 89 UR &dt J Razd - feg =7 &t faust famy 37
(A) Ao (B) frmfes

(C) FAOTs (D) dgt &t

N 101 [P.T.O.
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60
AAAEHE et o8 o fan fapy @ 79 g7

LA §

yAR<ga ferfia
gesHed feAfia

feaet
efget

uqiET g

(A) U TEa (B)
(C)  ymeevd (D)
wHR! gAT He fAfa - feo fam yag o e 37
(A} Fuust fenfia (B)
(C) Jdusinea fenfia (D)
T § fowzE @ @t w gae O & wifedt mfet e fam g <t <o st widt 39
(A) 4t (B)
€y @r (D)
‘nite” mee = fedul Auw faos gae 7

(A)  Ifrmr-yfrmr " (B]
(C) octE (D)
‘q9st’ v faoar meeEd HEY adt 37

(A)  fys<t (B)
(€) qfa (D)
Ut 3w 99 s meet & faest fan ya 37

(A) AMHZ (B)
(C) forzshyms (D)
(A) iz (B)
C) = (D)
= ooa fermz & Gowas J-

(A)  une fes (B)
(C) Aot 39 ¥s (D)

BH gy
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U5 fofit & faozr wae »dge sor & sfeanr 37

(A)  TJHARY (B) Az9
(C) wIw (D) &=
faoar wae fudse &0 & sdt sfenr 37

(A) AR B) ¥
(C) nEEa (D) uex

Aa9 Mg & u? 3t 8F Afed § ot faar mier 37

(A) dd9 (B) w3
(C) st (D)  ymal
U5 fad Tt f&9 faos moe sg-nodt &7

(8) vige dar 3 (o) A ¥ fiize mge w faor 3

-

(A)  mHge (B)  uer

) 3 (D) & &t
fargs mae ‘A’ AEe v AHOER AdY 37

A) 2 (B) famw

) =ea (D) fes

7 wee fait 5 & ofsor 772 87 § o fao 7 37

(A} B (B)  fafonr

(C) ~ fehme (D) uFase

80 wEe far 3 | @ U2 & umT @ WS &R 8 § o faor A 97
(a) &e (B) feAm=

(C) fafemr (D) uzs=

(EATERRET [101 [ P.T.O.
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83. U5 fafimi &9 faaa wae yzsie 37

(A) Bl B}  Fuz

(€ o D) A3
84. feimE et dator famyt a7

(A w9 (B um

© @ (D) s

85. w9 ¢ Uu 3 uwa fdd Yoy @ 9a?

(A) W9 B) fIs
© = D) fe=
86. €9 T W TG, TTHH n»iaFT fgomt &5 faar wer 30
(A) AI9 2l (B} w2
(C) wisH &8 D) &5 28
87. HT niug fdd Ta1?
(ay  um B) v
C) fas (D) ®
88. Undl ¥ wigaAd fevives fda 957
(A) U (B) v9
(€) fés D) ¥
89. dnmt fiu fdatnt &ar a7 falt &t was ot et 39
(Al @A (B] nis
C) 2 (D) o9
90. hﬂﬁaméﬁaﬁgmﬁﬁﬂﬁﬁ%%mﬁw-mmwrﬁz%ﬁm
e 37
(A) e B) A=
(C) = o) =
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65.
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vis : III
(CTLUTRE ||
aerzidl

UL visHi §ot 30 usal 8,

£25 Ufatall vdie HUA] 52[%2ud B,

Uldistl (@2l Wd v avia y2asd ef s£le] ?

(A)  AHadl5elsliEd (B)
(C}) acigdid (D)
slcaell JAadlell HAIEUR Yy S8 olold Uz cla 8 ?

(A} 8 (B)
(C) os (D)

vdsAldl
HiMSL,

UlSciofl 2ivey
HESIZ.

“Zel ol gellausu aduiel usell Guz QAR sdi Al y»id ma 2dl Ruly 8.7

diseol HIEU? 63 el 65 SHISoll URatloll YAVl ZHIUL

atsami vildl adsell ariddl 2108 sa) & 2

(A)  ula (B)
©) y»id (D)
‘Ul Aed 2 ?

(A)  g§d (B)
(C) el (D)
sl 5! eiid @15d 2 B ?

(A) ed (B)
(C) [o2u (D)

ofldell UlFas 2H1EL? U2all 66 2]l 69 otl vaiot 24l

Hol A yedlefl 654d 1Al As 2wkl dl
uddi dl §13 5 aegsy au « awell
u i) uvll-sager-ugy o slesel
olfilel Me2ilsll o 65, GRdloll 65 otell
§ldotl udel aegsy sl gol ?

(A) «@fud Yaalel ¢5 &

(B) ¥Houd getdtell &85 Sl8al siell

gollan
(Ul

A
opfis

Gedt
HlciE.

(C) witud wadisll 655 8, 2112 BHovlal Rldlell 655 otell

(D) uvll, soppar Al uilA 2lilcell 234,
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67.

68.

69.

70.

71.

72,

73.

74.

75.
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s(Ael Fecal 242 12 yedlou A ool 8 7
(A) a6 (B)  daicu 2142 wie
(C)  &sL 2ama W (D)  Mcdd st 24A L.
SR W2 st quidd 2ve sl 8 7
A  &fud (B) dessu
(C) & (D) eeq
5(aell un sl & 7
(A)  oa dlsl (B)  uvll, Hoprat, ug|, Slesl
(C)  uguvll (D)  uopr Rratasl daxd 2mal.
sloll §2A1 USIAHI Ale vilsaul cla 8 7
A axnd (B)  =2Aldde
(C) &g (D) eyt
“of 52 ndld uRe], d wald u2 2ust 52.” Ui Slell dla seami udl B ?
aA) Bes (B) el
(C) Hal (D) 2w,

aAdEdl A He2L S2di Gl uel 2315 S2di ofladl 8. e 2 Hdel s2dai Gial uel [iva s2di oflal
B, dl 2lefl Al sla 7

(A) s (B) né&a
(C) [aera (D) 3lad.
dperaidl B cepii il M2 sl yvad 8 ?

(A)  e2f16 (B) vl
(C)  Weusie (D) earRM.
25 & o ilsadi 9 5ed e ollamd [QaRH ¢f 58 8 ?

(A) anu (B) 2de

C) &4 (D)  Aeld.

3

2igga ell3apii ulaisal Hidl gL ddidl Aad of 5& 8
(A) 2dqfa (B) a1

(C) e&wa2si (D) w32,
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N didci sicell 2uimel (a2 ofidiR 6dl, dl veudl 3 udsi sicell ugdlal Razi sal g2l 2

(A)  opRarR (B)  gsar
€ alar (D)  2fal.
ofldeitiiell sl enate 2uycell el ud 8.

A B) G

© A ‘ D) .
viilleoroan yprl. Riell, valél, ............ , stBauasl.

(A} GE (B) ol
(C) radl (D) ueodl.

“Hiol clsel ot v Bl R0 A51A &7 (Atuet 2udl Ridid (EEiol eded.
(A)  3ecdls vl 21 22214 As1a

(B} oEll o121 o1 22214 2A5121 &

(C)  Zedls o2t 2 22210l uR o2ll Asidl

(D) 2 2821e w2 2Asidl vell o eisa sla B.

A (1231241 : 1@, dl yz : ?

(A) ot (B)  aeaue

(C) il (D] [denet.

AM208] A2512 clRd HIE Al =2l

(A) 2 (Qeusl A &, (B)  2u (dtust sdet 8.
(C)  u (dtua Acus & (D)  2u (Geua ydeuew 8.

s 20l 2218 s2disit eidlol elElell S2di e u2 220Y S2dlof AR UAE 52 &, w1 HE A Slaitell
ueildd & ?

(A)  uduai (B) olGid
(C) as (D) uAlo.

1205 A oendel yxn 8. a2l A Hlotioll Yol 8. veud 24 Mouou 22121 S, dl sl a2l
2uelall el 2iviEL & ?

(A)  oud B} [leae

(€) Qi (D) s181.
o(Eeuall el & .......

(A ax 2dBRs Bau (B) vl g «1él
(C) Alkdw)dl 4l g2 (D) Hiatd Adl.
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85.

86.
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89,

90,
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“odell 22 vtelaata 1A ¥ Blicieedl A B, B (At uell 2 dizdl 2us12 7
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(C) aoll oiEll videll 22118011 210ie A & (D) ol 221datl AHioiE ot2fl dai.
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udel azane usal ugloll Wdloll Alest 242i WA voldell oiEn o ugepRt (3551 usl ma § wudleu
seiseptiell auad) i puuRi 2sasepi As1s1e Al B, cdila dl v AditnA 8. il
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(A)  de2lE (B) Wl 2qia
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(A) iegla (Bl  Qfi-=uieqi
(C)  well (D)  wdlell 2pid.
il ufFedeni 59 sigel nerdodl aell 8 ?

(A)  aul (B) BiRr

(€)  &id (D)  ag2id.
aaiR1voll [ARE5al6] aviel euni a2f 8 ?

(A) €61 (B) 9E
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“azollon s ol el of A ?

(A) 24599 (B)  eflevaq
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Section - IV / @Us - IV

MATHEMATICS / Tfura

There are 30 questions in all in this section.

All questions are compulsory.
W Es H FA 30T € |
vl v e € )
91. Which of the following is true for a triangle ?

(A)  All the angles are always acute angle

(B) One angle is always a right angle

(C) One angle is always an obtuse angle

(D) One angle is always an acute angle.
PR F i FA-aFH T 8 ?

(A) EEE HO G985 H H e §

(B) TS &IV 39 WARI BT ¥

() U& & Fea AuF Fv grar &

(D) & &IV §39 T &IV gran & |

L-1
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92. How many triangles are there in the following figure ?

N

A) b5 (B) 4

cr 3 (D) 6.

fefasd e fygw € 2

A 5 (B} 4
& 3 (D) 6.
93. The sum of all interior angles of a square is
(a) 180° (B) 360°
() 270° (D) none of these,
1 F AR A H FH G g 2
(A} 180° (B) 360°

© 270° (D) T A HE =T |

(LR
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94.

95.

69 L-1
Which of the following statements is correct ?

(A) A square is a particular type of rectangle
(B} A rectangle is a particular type of square
(C) Every ray is a line segment

(D) Straight angle is of 90°.
fAidsn-wFEFa R ?

(a) =1 T fa¥ry ysr w1 3 o @

(B) TR U fav y&r w1 w7 g §

©) v fao o Erers i d

(D) &Y/ WA FTU F AG 90° Bl ¥ |

One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres. Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?
B 3.9 (B) 30, 90
© 3.9 (D) 30, 9.

fordt fqm & & Wt AR B 250 ™ Se U=dl § 1 TF @edt 75000 Wt g g+t ® (@ 9%
fopa wat @ 3R 3T F1 g 7 * 0 & fow 38 ok fFa 99 o g 2

A 3.9 (B) 30, 90

{C) 3, 90 (D) 30, 9.

(I [ P.T.O.
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96. What is the highest common factor { HCF ) of the numbers 425 and 476 ?
A 4 {B) 5
@) 17 (D) 51.
HEAH 425 AU 476 i FETH HHYGIE ( Ho Ho To) ¥
A 4 B} 5
(@)} 17 (D) 51.
97. What is the least common multiple ( LCM ) of the numbers 90, 60, 75 and 35 ?
(aA) 2700 (B} 6300
(© 4250 (D) 2750.
Femall 90, 60, 750U 35 FH) THTH THGAH ( Fo Ho Yo ) ¥
(A) 2700 B) 6300
(C) 4250 (D) 2750.

98. Five persons paint a house in 3 days when they work 8 heurs everyday. Then if one
person works 4 hours everyday, how much time { day ) will he take to complete the

same work ?

@& 30 (B)

sle i

© 2 (D)

TF HEM &l AR 5w, g€ U & & 3 o @ & ) 1=, 4 ¥ U9 F9 wFH
8 &M 7 famad i 7 wm 2

15
A) 30 (B) 5
6 3
(®]] 5 (D} 10 -
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99. The marks obtained in 4 subjects in an examination are 200. If the average of marks
obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?
(A) 50 (B) 144
(C) 152 (D} 56.
T wen ¥ IR fawdl F wm g i 200 ¥ 1 Afg @7 fawai A wmw sl @ oftwmw 48 % & =g
fawa o W oie &
(A) 50 (B) 144
(Cy 152 (D) 586.

100. A person sold a cycle at Rs. 935 with a gain of 10% then at how much amount did he
purchase the cycle ?

(A) Rs. 945 (B) Rs. 850

(C) Rs. 925 (D) Rs. 1,085.

T =4t 3 Tk TEfHat 935T0 H 10% o9 W == 1 397 =% |ifhel fohar o & @il ot ?
(A) 945%0 (B) | 850%0

(C) 925% (D) 1,085 %o |

101. Write the following four numbers in descending order :

I. 4203567

I1. 42036bH7

1. 4203756

IV. 4203675
(A I, 4L, I, IV (B) I, v, I, 1
G 111, IV, III (D) III, 11, Iv, 1.
Frfafad =r esi F sEE w9 | fod .

I. 4203567

II. 4203657

. 4203756

IV. 4203675
(A) I II, III, IV (B} IIL, IV, II, 1
(C) L II, IV, 1II (D) I, 11, IV, 1.

(LT [ P.T.O.
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102. One crore is equal to

(&) 100 lacs (B) 1000 lacs

(©) 10 lacs (D) 100 thousands.
TF I TR §

@A 1009\ F (B) 1000 ¥m@ &
€ 108EF (D) 100 &SR & |

103. The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as
{a) 59004988 (B) 590400988
(C) 509049088 (D) 50904988.

T& 5H08 9@ 4TIR 96 Erd &t il § fe@ T wa g #
(A) 59004988 (B) 590400988
(C) 509049088 (D) 50904988.

104. The population of a village is 78692. Out of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is
(A) 20883 (B) 21883
[C] 20893 (D) 20783.

T T & Fol TAEEA 78692 % | T W 29642 W ¥, 28167 Afgad ¥ awm ww w=w ¥ 1 @
o=l w HEA®

{A) 20883 (B) 21883

(C) 20893 (D) 20783.
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105. If we divide zero by 60, then the dividend, divisor, quotient and remainder are

respectively
4 0,60,0,0 (B) 60,0, 1, 0
({C) 0,60,0, 1 > 60,0 0, 1.

YA H 60 FH U T W 9N, WINH, WIThHA T A9ES How: ¥
(&) 0, 60,0, 0 B) 60,0, 1,0

(C) 0,60, 0,1 (D) 60,0, 0, 1.

106. On subtracting 8 metric tonne ( mt } 50 kilogram from 12 metric tonne 8 quintals we

get
(A) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg
(C) 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm.

12 Hifew 27 8 fraee 8 § 8 Wifew 29 50 frelium werd T e €
(a) 3Hifes 27 8 fadea (B) 4w 27 7 fw@ea 50 fwen
(C) 4 Tifgw 27 8fadea 50 fFal Tm (D) 3¥ifgw =7 8faged 50 fFet Tm )

107. A tank has 400 litre water. If 12 litre 500 ml water is used from it and the remaining

water is filled in 25 cans of same capacity, then what is the capacity of each can ?
{a) 12 1t 500 ml (B) 13 1t 500 ml
(C}y 151t 500 ml (D) 14 1t 500 ml.

TH <l H 400 @i AT ® | 398 § 12 ©eX 500 fuelfieier 9t &M ¥ 91 & =g 99 I i
YA gHa & 25 fesl § wo 92 &t vl fe= ) gmar @

(a4 12% 500 o< (B) 13 &t 500 fuei
(©) 15%t 500 fuet (D) 14 500 fA=t |
(T [ P.T.O.
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108. Which of the following statements is incorrect for the time taken by big hand of a

clock to reach from one digit to exactly next digit ?

(A) 5 min (B) 300 sec

Q) 11—2hour (D) one hour.

w7 72 g & foet oiF | i o7 of % e ° @ 9 §ug & fau A | s
IEE T ?

(a) 5fEre (B) 300%F<

© 1z 0

109. The length and breadth of a rectangular field is 60 m and 40 m respectively. 1f on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass
planted field is

(A 1100 m (B) 525 sq.m
Q) 1100 sq.m (D) 525 m.

T SIAHR HeM & g 60 Al 991 AR 40/l € | 39F 91 R 9@ TWE 5 H WIE H
UH @R A9 @ W oA 9lel SE 6 SEE g

(A) 11007 (B) 52591 @t
(C) 110097 #t (D) 5251 |

110. A rectangular photo frame X is of 90 cm length and 70 cm width and a square frame Y
is of side 80 cm. Then which of the following is correct ?

(A)  Perimeter of frame X is 6300 sq.cm

(B) Perimeter of frame Y is 6400 sq.cm

(C) Perimeter of both X and Y frames is same and is equal to 320 sq.cm.
(D) Perimeter of both X and Y frames is equal to 320 cm.

TS AR 99 % WA XH1 o=rg 90 96 qun W 70 9 ¥ o uw SR W YH e
goadW g dfA i A sR-TFTH T ?

(A)  WH X % 9RE™ 6300 & |9 g

(B) WA Y &I 9fEM 6400 T ¥H ghm

(C) TN WwHE X qA Y & IRHM SUER TS 320 I WA EOM
(D) A WE X g YF IR 320 9H & SUeR ghT
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111. A person took some loan from a bank at the rate of 15% annual interest. If he pays

back Rs, 7,250 after 3 years then what is the amount of loan ?
(A) Rs. 5,000 (B) Rs. 4,500
{C) Rs. 6,500 (D) Rs. 5,500.

T (w1 A% A $S T4 15% afudh =0 Hi 51 ¥ IUR fe=n | 37 §9 90 a8 9% 7,250 Fo
o o &, o) 39 T suan SuR fam o ?

(Al 5,000 Te (B) 4,500 %0
[C) 6,500 %0 (D) 5.500%e |

112. What is the interest on Rs, 500 for six months with a rate of interest 8% calculated six

monthly ?
{A) Rs. 20 (B) Rs. 30
(C) Rs. 48 (D) Rs. 40,

500 Fo H1 6 oM &1 8% Ht BHE! &l 9 =451 B
(A) 20%o (B) 30%o
(C) 48%o (D) 40%o |

113. A person X sells an article of Rs. 100 with a loss of 10% to the person Y. Y sells it at a
gain of 10% to another person Z. What is the price at which Y sold the article to Z ?

(A)  Rs. 100 (B) Rs. 99
{C)  Rs. 110 (D) Rs. 101.

TF Al X, 100F0 HI aeg &, 10% F FH GG Y H A @ | Y, 39 a5 F 10%
oM Y ot ZR agem e, @ v A e T Wawg Z A= ?

(aA)  100%0 (B) 99 To

(€} 110%0 (D) 101 %o |

ITTIEREE | P.T.O.
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114. Which is a plane in the following ?
(A) Paper sheet (B) Glass
(C) Ball (D) Cylinder.
frer Feqall F R B T £ 2
@ Fr ® fiaw
© 7T (D) & |
115, Which of the following statements is not true ?
(A) The figure formed by two rays passing through a point is called an angle
(B) A closed figure formed by three line segments is called a triangle
(C) A figure formed by three lines is called a triangle

(D} In a rectangle the length of opposite sides is same and each angle is a right

angle.

= % | FH sa A § ?

(a) fordt T fog | oA aet 2 Rl | o et B o e §
B) =t & YEravel 4 b g 9 ogfa B e wea ¥

© for=l 99 wansl & fot amafa & frye w0 #

(D) T St SAHA-THA it YIS HI T=E FHH S & T2 TeAF H9 GHHIY B € |
HTHHLH
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116. The value of 15 coins of 25 palse each is equal to

I. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 paise
II. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 paise
III. 3 coins of one rupee + 3 coins of 25 paise
IV. 3 coins of one rupee + 2 coins of 25 paise.

In the above four, the wrong statement is

@ I (B) I

A 1 (D) IV.

25 %] &% 15 foawl #1 A9 SR ?
I. T&H %o % 3 faaF + 5090 #1 1 faae + 2599 =1 U faaam
II. TE %o s 2fgar + 5040 & 3fger + 25 848 71 w= faga
. TF To & 3faaw + 2600 & 3foas
IV, u&H % & 3fgsr + 25890 & 2 fass

I9YH IR H | 7o HYA §
A 1 (B) III
{C) I1 (D) Iv.
117. The arrangement of the fractions % g —13- . % in ascending order is
MR O
fa '%.% %.%wmﬁ'ﬂ%

LI [ P.T.O.
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118. If the cost of 5 pencils i1s 33 rupees then the cost of 2 pencils is
(A) Re. 231‘ [B] Rs. g‘
(C) Rs. % (D) Re. % .
afe 5 ufwel &1 4w 32 wo &, @ 2 A #1 qeg g
(A ?_l Fo (B) g To
© %o O 2%

119. Which of the following statements is true ?
(A) | 1 is not a prime number (B) 1 is a prime number
(C) 1 is a composite number (D) 2 is not a prime number.
e & & FF-w Fus W 2
(&) 1IN HE T € B 1 AWg HEN
(C) 19g® §&A T (D) 2 HANSY &A1 &l & |
120. The prime factors of the number 720 are
(a) 2x2x3x3JIx2x5 (B) 2x3x4x5x6
[Cl 3x3x4x4x5H (D) 2x2x2x2x3x3x05,
& 720 F A PGS
(Al 2x2x3x3x2x5 (B) 2x3x4x5%x6

(C] I3x3x4x4x5 D) 2x2x2x2x3x3x%x5,



[D] 79 L-1

SECTION - V
|vE -V
ENVIRONMENTAL STUDIES
UHIGRuT T

There are 30 questions in all in this section.
All questions are compulsory.

WETE Y FA 30AF ¥ |

Qoft 9 e €
121. Full form of CNG is
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas.
et 1 U € ¥
@A) FEA e B) wFERE T«
(C) & T | D) wiEwEEs TgW

122, Wildlife Week is celebrated on
(a)  1st October tc 7th October
(B) 15th October to 2 1st October
(Q) 1st June to 7th June
(D) . 15th June to 21st June.
99 W@ FHIE WA ST §
(A) 1R 7 SAH TH
(B) 15 S H 21 I T
€] 15F¥ 73H
(D) 153 H 21 5 T |

i [ P.T.O.
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123. State tree, state bird and state animal of Rajasthan State are

(A)  Khejari, Godawan, Chinkara
(B) Khejari, Peacock, Tiger
(C] Babool, Godawan, Lion
(D) Mango, Peacock, Tiger.
TSRUM TG % T4 g8, U9 Uaft e To0 o) Hou: §
) @St TreE, fHER
(B) @l A, 9
(C) =@, TeE, I
(D) o™, HR, = |
124. In which state of matter, the distance between the molecules is minimum ?
(A)  Solid (B) Liquid
(C)  Gas (D) Plasma.
Tt i T ormEen § syvpe % wew Y O gAGH BT § 2
@& = B &

€ = (D) A |
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125. Which state is known as ‘Tiger State’ ?

(A) Rajasthan

(C) Gujarat

(B)

(D)

-G T TR R F AE W S A & ?

(Al U

(C) T

126. City of Lakes in Rajasthan is

(Al Jaipur
(€) Udaipur

TRy H el 1 TR
@ I

(C) 3L

(B}

(D)

(B)

(D)

(B)

(D)

L-1

West Bengal

Madhya Pradesh.

ofygy Sme

g WS |

Jodhpur

Ajmer.

S

AT |

127. Who built the Vijay Stambha { Tower of Victory ) ?

(A) Maharana Kumbha
(C) -~ Maharana Pratap
feawra Ty foed aenan ?
(A} TERION

[C) FEWI WA

(B)

(D)

(B)

(D)

Maharana Sanga

Maharaja Jaisingh.

HETIOT |

TR SafEs |

[ P.T.O.
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128. Following traffic sign indicates :
(A)  Major road (B) Pedestrian crossing
(C) Railway crossing (D)  Narrow bridge.
freifera amamam dehd F1 a1ef ®
(A) T HEH (B) I TRUY
(C) o s (D) H&d giemEn

129. Full form of ATM is

@A)

(B)

(€

(D)

Automated Teller Machine

All Time Money

Automated Transfer Machine

Audit Teller Machine.
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T F1 W w ¥
(A) g TR HEiA
(B)  ofieT <Tgw WA
(C) eAEMIs AW A=
(D) &ifee oo/ T9i |

130. Message sent by computer is known as

A)

(C)

SMS (B) FAX

E-mail (D) Telegram.,

FIYI F HH § TS TN 916t TR H Fed §

A

(C)

THUATY B)  F
- (D) &I |

131. Nuclear family refers to

()  any family born after 1950

(B) family includes parents and their children

(C)  entire family including children, their parents and grandparents
(D) only husband and wife.

el gfaR A e &

[A) . =¥ 1950 % 918 7 JRER

(B) vfEr fsad Am-foa @ 37% 9=

(C) wHU SfEr fed o=, 9% A aar ©d <er-ge

(D) ad gfa-Tet )

L-1

[ P.T.O.
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132. Tobacco addiction is due to

(A) Cocaine (B} Caffeine

(C)  Nicotine (D) Histamine.

T, it 3Ted foRw @ gt ® 2

(A) R B FHA

() frenifes (D) feedl
133. What are the minimum ages for marriage of boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

Q) 18 years and 18 years

(D) 18 years and 16 years.

R § A% 9 ASiRdl & faare 4 <gaan g 7  § ?

A 21999 1894

(B) 18999 219

() 18=dd= 184N

(D) 18a¥ 3 169 |
134. Main occupation of people of Rajasthan is

(A)  mining (B  bakery

(C)  poultry farming (D)  agriculture.

TR % S o1 T qa9d &

(A @ B) u&d

() e D) FH
LI
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135. Which of the following places of Rajasthan does not have sugar factory ?
(Al Keshoraipatan {B) Nimbahera
(C)  Udaipur (D)  Bhoopal Sagar.
e ¥ 1§ @ R e W yee 9 & Fa 6wl f 2
(4)  HETEUES B) frawRe
€) 3FEER (D) YU G|

136. Which of the following has maximum speed ?
{A)  Adr (B) Water Current
(Ci Sound (D) Light.
Fefafaa 9 frge 3n sfuwaa § 2
(A)  T4d (B} &Y™
€ = D) W |

137. Which energy is converted into electrical energy by a solar cell ?
{a) Chemical energy (B) Nuclear energy
(C) - Solar energy (D) Magnetic energy.
SR A g0 foh Sul o fagy Sof § wgen w1 9@ & 2
) Tt el @ TfwEE wei
(C) W Tl (D) TFERF Tl |

U | P.T.0.
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138. Maximum amount of gas found in air is

[A) oxygen (B) carbon dioxide
(C) hydrogen (D) nitrogen.

& H waifys A ¥ gt 9 At e ¥

() s (B) FEA TRAFEE
€ FRgISH (D)  EEISA |

139. Renewable source of energy is

(A) Coal (B) Petroleum
[C} Plants (D) Uranium.
Foll w1 AN B &

(A) e B ferm
© 9 D) g |

140. Ozone layer is found in

(A) Thermosphere (B) Stratosphere
(C)  Troposphere (D) Mesosphere.
i o foerdt §

W erteE (B) WITHR
(C) griremiR | D) fosienER F
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141. Carrier of Dengue disease 1s

(Al Aedes mosquito (B)
(C}  Housefly (D)
1 M w1 e ®

@A) TSN A= (B)
(€)= et (D)

142. The blochemical laboratory of human body is
(A) stomach (B)
{C) intestine (D]
T ¥ TR @ gt e ¥
(A)  ATHRE (B)
(€ % (D)
143. Aim of Pulse Polic programme is
(A)  treatment of Polio
(B) stop paralytic effect of Polio
(C) complete eradication of Polio

(D)  all of these.

L-1

Culex mosquito

Anopheles mosquito.

HfRfes 7ot |

liver

kidney.

T |

[ P.T.O.
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Jod Qiferat wrfemm &1 3eva §

(A) HifeE =1 IyER
B) wifan | I Twa F U
(€ WfeTd =1 ool I=EE HAl
(D) TE IR
144. Kashmiri Gown is known as
(A)  Firan
(C) Bugtari
HYH =M FEEmr €

@w e
€) T
145. Habitat of Dog fish is
(A) River
(C) Lake

F1 god! H FGH &
@) =
(€ Hid

88
(B) Angrakhi
(D) Achkan.
(B) st
(D) 3= |
(B) Pond
(D) Sea.
(B) A=
(D) HHK !

146. In case of fraud or unfair business behaviour, we should lodge a complaint at

{(A) Consumer Protection Forum

(B) District headquarters
(C) ‘Tehsil

(D) Gram Panchayat.



(]

3T s1een TIfAd =i EER T W g e S wifiy

(A)  IYYIRE WU T HI
B) fsen yEeE #it
(C) <& &l

(D) U™ g=Tad &l |

147. How many members of Rajya Sabha are nominated by the President ?

(A) 12

) 20

89

(B)

(D)

TEafa 50 TgaH ¥ feHay sem TRk s ¥ 2

(A) 12

i} 20

(B)

(D}

18

22,

18

22,

L-1

148. District industry centre provides employment to urban and rural youths under a

scheme known as

(A)  Prime Minister's Gramin Sadak Yojana

(B) Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana,

ST SEim 5 fofm IIs1 & qea el T T gashi I USIR qRE1 HE 8 2

(A)  FYEHEHA TIE GEE GreT
(B) WYl AR e

(C) <ERT Um ¥yt A

(D) T S W SR de |

{ P.T.O.
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149. Which country has the maximum number of tube-wells in the world ?
(A) America (B) Australia
(C] China (D) India.
WO § S e e 3w A 2
(A}  emAfe (B) smfean
€ = D) 9T |
150. The Gangaur festival is celebrated on
(A)  Chaitra Shukla Teej
{B) Shravan Shukla Teej
(C) Bhadrapada Krishnapaksha Ashtami
(D} Chaitra Shukla Navami.
TR 1 EER FAE S €
(A) =9 IR e H
(B)  Hreu IEA WS I
C) YT FOUE FEH H

(D) BF YA AAH BT |
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% ®1d & fAu wg / SPACE FOR ROUGH WORK

(UL | P.T.O.



L-1

92

T @Td & foT W9 / SPACE FOR ROUGH WORK
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T & & ¢ W / SPACE FOR ROUGH WORK
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& @14 & fAU S / SPACE FOR ROUGH WORK
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INSTRUCTIONS / ﬁigl
{ Read carefully and comply / @ ¥ g 3R ute &7¥)
IMPORTANT / R&eiqul

1. In Seclion Il (Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
Language ! in the Online Application Form.

GoE ) (9T () # T A & A F e Fe AEd & o 9 o T g 3 AT [ R § Sene ey § R

2. In Section Il [Language If} a candidate has to attempt the questions of the language which the candidate has selected as
Langua_\‘?e Il in théeF Online Apptlication Form. The Language 11 will be different {[rom Lang

uage
et ST § e T 1 e ST 3 A £) B e N S S 4 ey &1 T 1 T 0 @ i

Qug
3. The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.
OMR ¥iZ 7 WA WYY YT i W8 W
L. Read complete instructions carefully and fill the details from S1. No. 1 to 6 in the OMR Answer Sheet and S1. No. 1 to 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your Answer Sheet.

P =1 of w0 & q‘%aﬂtm1ﬁ6aa¥ounwﬂa@m1ﬁ4ﬁmqﬁa$r(§-=bﬁz)aﬁwiluﬁmwaﬁ%#
foraror st a1 wRemeR R # B oMR Wi F T 5 Torawy g A ahomdt F 9fd A wd I gt

2. OMR Sheet No. should be written in the space provided in the Question Booklet.
oMR e e v qRaw 7 & m Fruifea @ o fordt R e |

3. The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates

will open the Question Booklet seals, Check whether the Booklet contains 150 questions starting from Page No. 3 to 90
T Gl H 96 T U 150 WA £ wORTE MEw f5g WM % 3w & oue @ﬁ%l?ﬁ F A & e
150 W € 91 i TS5 W 3 § W EiF 00 O ¥

4. All guestions are of MCQ (Multiple Choice Questiona) type There is only one correct answer to each question carrying one
mark There will be no negative marking for wmng answe

TR F &1 T4F Ve @1 0F [aohed ﬁaﬁﬁlmmﬂs%ﬂﬁ%ﬂﬁamwhwmﬁ%&ww

w# ﬁ'&
5. All questions other than language questions of Sections II and III shall be bilingual.
WY A & WTST FlAd WU 00 m & WA % it w el mvet & v o aty
6. In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in

uestion/s during the examination, . ) .
%ﬂﬁmﬂﬁmﬁa&'%hﬁwﬁaﬂﬁaﬁ%ﬁmaﬂwqﬁmmﬁwaﬁ ety # uet o fet wER w1 e R wEmn army
7. Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet, No additional paper shall be provided. .
et PR % T T & W g & A ° ¢@ 2 ST & T &) T weT I & R W | iR v @ aifafoe s svers g
EREILI) Eipull
8. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not
allawed Their use will result in dlsquahﬁcatmn
, TAEE FA, Qe B, 0, fesfted St a1 S o T W 1 SeiEgie STl [/ weg @ Y atad ¥ e
atrqﬁ‘rr T T § S S T o S b
9. OMR Answer Sheet will be provided along with Questlon Booklet separately.
OMR T2, w9 QR & a9 A v = o
10. The Question Booklet will be issued to the candrdate at 10:45 A.M. and the candidate must fill all entries in Question Booklet
and OMR Answer Sheet. The Question Booldet seals shall be opened at 11:00 A M. After opening the Question Booklet, ensure
that any page/ question is not missing / not pnnted / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Invigilator and get it replaced within 10 minutes by the Invigilator, Warning Bell will ring at
12:25 P.M. and the last long bell will ring at 12:30 P.M.
aTagt F W qIE W 10’:;453'5‘16? mﬁwwﬁmﬁﬂmomnwﬂaﬁwwﬁ&maﬁﬁlm Cilind
| @iv &1 F9 11:00 9 E) WTT @aﬁ% Tt AP AR w7 o o zan Fuife WF quzra’r
gt & / ourd ot & / H)IT e o %maﬂ%gna q:s'rm%mﬁw 4 38 TR # FHE e %
mﬁwmﬁﬂz*\ﬁmm 3%::’;! o | S g2t SR 12:25 9T @@ O :\Wﬂ?maofﬂ
|

Il. Write your Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Signature in the
space provided in the Question Booklet as well as in the OMR Answer Sheet. ) . X
prc] T OMR ¥ile ¢ (¥ ®©F T 90ET % F FIS, I TE, OMR VIIe FHih, W [ReaH FHiw, A9 (0@ a9 H9 gRmn F)
12, With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according 1o you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR
Answer Sheet corresponding to the guestion. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
allowed.

FEF W H IR AHOTF I A, B, C T 0 ° KY T E| v A vy % 9 FE T F 993 F¢ IgF I F oMR ¥ ¥ w=fym
%ﬁgﬁ%waﬁﬁnﬁaﬁmaﬂsﬁaaﬁlmﬁw% e a1 Fit AT 9T A UG B AR T @ e F o

Correct method : | CORRECT / T8 | o evnoq . | WRONG / @ WRONG / WFiel | | WRONG / T/t WRONG / TF
- QOO @|matw:. |ROOO| |0OQ00| |O000| | Ce0e
13. OMR Answer Sheet is designed for computer evaluation. [f you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall I;chzot%he candidate only. & for ¥ s & e = w3,
OMR HIGZT TR Hed= CRICIEIE A 9 I7F TH OMR PR 1 e I g
ST iRl S & A | FH FO1 F el e At TEA S SRR gt s e |
14. No candidate should leave the Examination Hall before the final bell. The Question Booklet as well as the OMR Answer Sheet
should be handed over together to the Invigilator before leaving the Exammanon Hall,
T et TR ®

TR | AR @ A T | I F SIS F G el F OMR Wi 3 ¥ i o @ e

FY ST AT B



